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At 17 A
JEHL SmE4 OUT I N GROSS| HDCP | NET e
i FTER FE1E 39 46 85 170 68.0
2 Fith EHF 38 40 78 90 69.0
3 B ER 41 36 77 50 720
4 FofR RIF 43 41 8 120 720
5 H#H A=x 44 38 82 90 730
6 7RE KA 43 41 8 110 730
17 AFETHK 44 @ 44 88 150 730
8 Rig B 46 43 89 140 750
9 ER —F 40 42 82 70 750
10 ifH B 45 46 91 150 76.0
11 WX E— 39 47 8 80 78.0
12 {hHA Ei& 41 41 82 30 790
13 kR B9 43 48 91 120 79.0
14 EER M o7 48 105 22.0 83.0
15 FK AL+ 02 48 100 17.0 83.0
16 tfEE R— 48 50 98 13.0 850
17 B8R = o1 48 99 6.0 930
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